[TonyuuTb ypaBHeHHe NBHXKEHHS KyJHCHOro MexaHusma. Haiitu

3Ha4YeHHe yIJIOBOTO yCKOpeHHUs ¢ 1pu t = 0.

Bapuanr 1

MDz = M() — k)UJ3Z,

an = —Hw4q,,

an = —VUs,,

My = 11Hwm, k£ = 15HwMmc,
v = 45Hc/m, g = 12Hwme,
I = 12K1"M2, mo = 16KT,
ms = 34Kr, m4 = 26KT,
Ry = 38cMm, r1 = 27cM,
Rs = 28cMm, R4 = 12¢cwM,
g017() = 1.3, ojlz,o = 05%

MDz = M() — k)UJ3Z,

an = —pw4,,

Mo = 11Hwm,k = 11Hwmc,
w=13Hwme, I = 12krm?,
mo = 16Kr, ms = 34kKr,
mg4 = 26KT, ms = OKT,
Ry = 34cm, r1 = 23cM,
Rs = 24cMm, Ry = 20cwM,
rqy = 12¢cMm, 14 = 15cm,

rs = 12cM,

$1,0 = 1.3, Wi,,0 = 01%

Bapuanr 3

MDz = Mo — kw1z,

an = —Hw4,,

F,, = —vus,,

Mo = 12Hwm, k£ = 12Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 15KI‘M2, meo = 16KT,
ms = 34Kr, m4 = 20KT,
Ry = 35cmM, r1 = 24cm,
Rs3 = 25cm, Ry = 20c¢M,
rqs = 12¢cM, i4 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.2%.




Bapuant 4

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

My = 10HwM, £ = 11Hwmc,
v = 35Hc/m, p = 14Hwme,
I = 9KI‘M2, meo = 15KT,
ms = 33KT, my4 = 25KT,
R1 = 34cm, 1 = 23cm,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.1%.

Bapuanr 5

MDz = M() — k)UJ3Z,
My, = —pws,,

Moy = 9Hwm,k = 14Hwmc,
w = 15Hwme, I = 6KIrM2,
meo = 14Kr, ms = 32Kr,
my4 = 24KT, ms = 4KT,
Ry = 37cMm, r1 = 26¢M,
R3 = 27cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
rs = 12cMm,

$1,0 = 1.1, Wi,,0 = 04%

MDz = Mo — kw1z,

M, = —pws.,

F,, = —vus,,

My = 12Hwm, k£ = 15HMmc,
v = 30Hc/m, p = 13HwMmc,
I = 15KI‘M2, meo = 16KT,
ms = 34Kr, m4 = 20KT,
Ry = 38cm, r; = 27cwm,
Rs3 = 28cwm, Ry = 20cM,
rqy = 12¢cMm, 14 = 15cm,
1,0 =13, w10 =052




Bapuant 7

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

My = 11Hwm, k£ = 15HMmc,
v = 40Hc/m, g = 12Hwme,
I = 11krm2, mo = 17kr,
ms = 35Kr, my4 = 27KT,
Ry = 38cMm, r1 = 27cM,
R3 = 28cMm, Ry = 12cM,
$1,0 = 1.4, Wi,,0 = 05%

MDz = Mo — kaz,

an = —Hw4,,

Moy = 11Hwm,k = 12Hwmc,
u=12Hwmc, I = 11K1"M2,
mg = 17Kr, ms = 35Kr,
my4 = 27KT, ms = OKT,
Ry = 35cm, 11 = 24cwm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqs = 12cM, 14 = 16¢M,

rs = llcwm,

$1,0 = 1.4, Wi,,0 = 0.2%.

Bapuanr 9

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVUs,,

My = 9HwMm, k = 15Hwmc,
v = 30Hc/m, p = 15Hwme,
I, = 6xrm?, mo = 14kr,
ms = 32KTI, my4 = 24Kr,
Ry = 38cm, r; = 27cwm,
R3 = QBCM, R4 = QOCMy
rqa = 12cMm, 14 = 13cwm,
$1,0 = 1.1, Wi,,0 = 05%




Bapuant 10

MDz = Mo — kaz,

M, = —pws,,

F,, = —vus,,

Mo = 9Hwm, k = 15Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 6xrm?2, mao = 16kT,
ms = 34Kr, m4 = 20KT,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cm, Ry = 20cM,
rqs = 12¢cM, i4 = 15cM,
g017() = 1.3, ojlz,o = 05%

Bapuant 11

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 7Hwm, k = 14Hwmc,
v = 40Hc/m, g = 15Hwme,
I = 4xrm?, mo = 14kr,
ms = 32KTI, my4 = 24Kr,
Ry = 37cMm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 04%

Bapuant 12

Mp, = Mo — kws.,,

M, = —pws.,

F,, = —vus,,

My = 12Hwm, k£ = 15HMmc,
v = 40Hc/m, g = 11Hwme,
I = 15krm2, mo = 17kT,
mgs = 35Kr, m4 = 27KT,
Ry = 38cm, r; = 27cwm,
R3 = 28cMm, Ry = 12cM,
$1,0 = 1.4, Wi,,0 = 05%




Bapuant 13

MDz = Mo — kw1z,

My, = —pwa,,

F,, = —vus,,

My = 12Hwm, k£ = 13Hwmc,
v = 30Hc/m, p = 12Hwme,
I = 15KI‘M2, meo = 16KT,
mg = 34Kr, m4 = 206KT,
R; = 36¢cm, 71 = 25¢M,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 15cm,
$1,0 = 1.3, Wi,,0 = 03%

Bapuanr 14

MDz = Moy — kwlz,

M, = —pws,,

Mo = 12Hwm,k = 14Hwmc,
w=12Hwmc, I = 15krm?,
meo = 16Kr, ms = 34Kr,
my4 = 206KT, ms = OKT,
Ry = 37cm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 15cm,

rs = 13cm,

$1,0 = 1.3, Wi,,0 = 04%

MDz = Mo — kaz,

My, = —pwa,,

Moy = 12Hwm, k = 14Hwmc,
u=11Hwme, I = 15K1"M2,
meo = 17kr, ms = 35kT,
my = 27KT, ms = OKT,
Ry = 37cwm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqs = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 04%




Bapuanr 16

MDz = Mo — kaz,
M, = —pws.,

Moy = 10Hwm,k = 13Hwmc,
uw=12Hwmc, I = 9krm2,
meo = 16Kr, ms = 34Kr,
myg = 26Kr, ms = 40Kr,
Ry = 36¢cm, 11 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqs = 12cM, 14 = 15cM,
rs = 16¢Mm,

$1,0 = 1.3, Wi,,0 = 03%

Bapuanr 17

MDz = M() 7]4)14.)32,

My, = —pws,,
Moy = 13Hwm, k£ = 15Hwmc,
1 = 10Hwmc,

I = 18KI‘M2, meo = 18KT,
ms = 306KT, my4 = 28KT,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cm, Ry = 20cM,
rqy = 12cMm, 14 = 17cMm,
g017() = 1.5, ojlz,o = 05%

Bapuanr 18

MDz = M() — kwlz,

M, = —pws,,

Moy = 14Hwm,k = 12Hwmc,
w=11Hwme, I = 23Kkrm2,
meo = 18kr, m3 = 306kT,
mg = 28KT, ms = 9KT,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqy = 12cMm, 14 = 17cMm,

rs = 13cMm,

$1,0 = 1.5, Wi,,0 = 02%




Bapuant 19

Mp, = My — kw1,

M, = —pwa,,

F,, = —vus,,

My = 13Hwm, k£ = 13Hwmc,
v = 25Hc/m, = 11Hwme,
I = 19KI‘M2, meo = 17TKT,
ms = 35Kr, my4 = 27KT,
Ry = 36cmM, r1 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
010 =14, w1 0=03L

Mp, = Mo — kws_,

M, = —pwa_,

Mo = 7THwm, k = 12Hwmc,
w = 15Hwme, I = 4krm?,
meo = 14Kr, ms = 32Kr,
my4 = 24KT, ms = 2KT,
Ry = 35cm, r1 = 24cm,
Rs3 = 25cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
p10=11, w1 0=02L

Bapuant 21

MDz = M() — k)UJ3Z,
My, = —pwa,,

Moy = THwm,k = 13Hwmc,
w = 15Hwmc, I = 4krm?,
mo = 14Kr, ms = 32Kr,
my4 = 24Kr, ms = 20KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqy = 12cMm, 14 = 13cm,
rs = 16cMm,

$1,0 = 1.1, Wi,,0 = 03%




Bapuant 22

MDz = Mo — kaz,

M, = —pws,,

F,, = —vus,,

Moy = 9Hwm, k£ = 11Hwmc,
v = 40Hc/m, p = 15Hwme,
I = 6KI‘M2, meo = 14K,
ms = 32KT, ma4 = 24Kr,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 0.1%.

MDz = M() 7]4)14.)12,

My, = —pws,,
Moy = 10Hwm, k£ = 15Hwmc,
1 = 15Hwmc,

I = 7KI‘M2, meo = 14K,
ms = 32KT, ma4 = 24Kr,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cm, Ry = 20cM,
rqs = 12¢cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 05%

MDz = M() 7]4)14.)12,

My, = —pwa,,
Moy = 14Hwm, k = 13Hwmc,
1 = 10Hwmc,

I = 23K1"M2, mo = 18Kr,
ms = 306KT, my4 = 28KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqs = 12¢cMm, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 03%




Bapuaur 25

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Mo = 8Hwm, k = 14Hwmc,
v = 35Hc/m, p = 14Hwme,
I = 5KI‘M2, meo = 15KT,
ms = 33KT, my4 = 25KT,
Ry = 37cmM, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.4%.

MDz = M() — k)UJ3Z,

My, = —pwa,,

My = 8Hwm, k = 13Hwmc,
u = 14Hwmce, I = 5KIrM2,
my = 14Kr, ms = 32Kr,
my4 = 24KT, ms = 2KT,
Ry = 36cm, r1 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 03%

Bapuant 27

MDz = M() — kwlz,

My, = —pwa,,

an = —VUs,,

My = 14Hwm, k = 14Hwmc,
v = 8kHc/m, u = 11Hwmc,
I = 23K1"M2, mo = 18Kr,
ms = 36Kr, my4 = 28KT,
Ry = 37cwm, r; = 26¢M,
R3 = 27CM, R4 = QOCMy
rqg = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 04%




Bapuanr 28

MDz = Mo — kw1z,

M, = —pws.,

My = 13Hwm,k = 12Hwmc,
p = 12Hwmc, I; = 19xrm?,
mg = 17Kr, ms = 35Kr,
my4 = 27KT, ms = 8KT,
Ry = 35¢cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqs = 12cM, 14 = 16¢M,

rs = 13cMm,

$1,0 = 1.4, Wi,,0 = 0.2%.

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 10HwMm, k£ = 13Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 9KrM2, mso = 16KT,
ms = 34Kr, my4 = 206KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqy = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.3%A

MDz = Mo — kaz,

M, = —pws.,

F,, = —vus,,

Mo = 11Hwm, k£ = 11Hwmc,
v = 8kHc/m, u = 11Hwmc,
I = 8krm?2, mo = 18k,
ms = 306KT, my4 = 28KT,
Ry = 34cwm, r; = 23cemM,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cMm, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 01%

10




OtBeThl

T = (¢?/2)(A + Bsin? @)
A B Q €
1 14.455 | 4.010 | -63.035 | -3.482
2 | 13.965 | 1.663 -26.485 | -1.880
3 | 17.082 1.881 6.616 0.350
4 | 10907 | 1.286 -16.879 | -1.404
5 8.190 1.668 -39.745 | -4.645
6 | 17.455 | 12.095 | -80.485 | -2.833
7 | 13.527 | 4.192 -34.046 | -1.945
8 13.144 2.021 4.514 0.343
9 8.310 1.993 -31.626 | -3.217
10 | 8.455 1.907 -29.427 | -2.890
11 6.190 1.523 -22.672 | -3.077
12 | 17.527 | 4.192 -62.802 | -2.916
13 | 17.203 | 3.539 1.541 0.071
14 | 17.327 | 4.438 -0.389 | -0.027
15 | 17.396 | 5.521 -72.154 | -3.177
16 | 11.203 | 6.039 23.371 1.382
17 | 20.599 | 2.686 -38.126 | -1.847
18 | 25.205 | 2.338 3.692 0.134
19 | 21.268 | 5.750 -8.046 | -0.303
20 | 5.960 1.392 -30.131 | -4.820
21 6.074 1.959 -14.011 -1.846
22 | 7.850 6.950 | -27.494 | -2.059
23 | 9.310 1.555 -26.232 | -2.708
24 | 25.333 | 2.302 3.932 0.156
25 | 7.259 5.004 | -50.163 | -4.345
26 | 7.074 2.722 -13.871 -1.804
27 | 25.464 | 6.908 | -107.813 | -3.336
28 | 21.144 | 2.037 4.658 0.220
29 | 11.203 | 10.369 | -37.347 | -1.804
30 | 10.081 1.579 -20.988 | -1.801
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